b CuNo (90 3T Gldbgls 4> g5 LB

Cod 38 35 0 I35 B 1FoF/O/ Ve aiinis 395 38 ol Cad e 550570 199 (oo gu § s 45 Wil y o0 EMDN 43 Lol >

Wl o0 ygio GBS g (5390 AU Cud (g0l g 0398 (o) yuid & g9 B o oG
e 6 it of poid 43 s (a0 cools JunST B) 1P F /F /YD i ylazr caldd 1+ F/F /71 i g 36 31 ot g 1

sowlod pU s 03 Tl b _https://survey.porsline.ir/s/CUKUdCT 2y 48T & 4zt g bt Fxf”

i1 w3 4ot (Cud 1 JwoS G) 395 2 17 sl B g E g v o A sl 31 9 0999 (5 yiidl &9 5 gud T s ad —

i ARl 3135 g1 (59031 S8 1o Blus Pl Cud 090 33 5 Wil (o0 8 10 Had 058 (1 39 P Cud drngu —Y

2l Pl Cad oo Sl G pgo 395 3 o P Cud Widlgi (o0 (Mg (0 Juazxidl €38 1FF Jlu olo 591 5 G &5 Slus 1aid o Cud Jgl 39 49 —F
wiglod pU Cud @ IS (90 3T Cud Jb (309 J 0590 8 Wilgi (0 (51 olo Vo ol (it 135) Tl g a1y (Sl (s !

P9 39) (9031 4 e 3519 4 PIS1 g 0wl (pkelan 395 U Cud (00T Cslw FA G 55100 ) (Sl 39 ouSiits 4t yo b Loi> ol i 31 o —F
whiloss (w319 g 1 50 Wb &5 S gmiits

SS9 39 JIB ouSiits POS oliwd dawgi &5 Wil (0 JU s 11/0F /000 ias g 93 Jb 5101 90999 JUy B/ YA/ 000 Jol 3l &8 3 8152 39037 Euo —0
510 &leo 1 39513 49 3L S g 90 39 g Cunl 153 43 p3Y Ly (0

(39031 A 30 SIS P Lo 4290 1 LI 3 pUS (90T (IS (3 31 (5 15 9> Cug 9 OUSINS (90T (818 digan Gub Cunl 58 43 p3Y —Y
~39u 0313 1 9 0uSNS 4 (3903 T 3 b widd S B 551> Wil (903 59 5985 PUS Cuilgd 10 i w93 su S (903 59 LT o gl gl Si> ey
W 8 iled ¢ U Cud Dl 09900 43 L S TFGIIYE T+ 0 3o 43 90 3T (oot b Wil g (o0 (U i PR 3 JSUio 3990 90 38 —A

S 3 0uStS 90T o ylof
\¥.F/F/ 1"




